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2_Bocchi and Mango Masks

(10 points)

Time Limit: 1 second
Memory Limit: 256MB

Statement

Bocchi is about to have her second performance in STARRY! Since she still can't look at the audience, the
other members of Kessoku Band have prepared n cardboard boxes for her to enter(? and perform.

It is known that the dimensions of the ¢-th cardboard box are given by l;, w;, h;. And Bocchi can be
represented by a rectangular prism with dimensions L, W, H. A cardboard box can serve as Bocchi's
"Mango Mask" if, after rotating or flipping the box, it can contain Bocchi. More specifically, let's assume that
after some rotation or flipping, the dimensions of the box become a, b, c. If L < a, W < b, H < ¢, theniit
can contain Bocchi.

Now Bocchi wants to know how many of these cardboard boxes can serve as her "Mango Mask." Please
help her find the answer.

Input Format

The first line of input contains a positive integer n, representing the number of cardboard boxes.

The next n lines each contain three positive integers l;, w;, h;, representing the dimensions of the
cardboard boxes, as described in the problem statement.

The next line contains three positive integers L, W, H, representing the dimensions of Bocchi, as described
in the problem statement.

Output Format

The output should consist of a single line containing a number representing the count of cardboard boxes
that can serve as "Mango Masks" for Bocchi.

Constraints

e 1<n <1000
o 1<1;,w;,h;, L, W,H < 10°

Test Cases

Input 1
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lllustrations

In Sample Test Case 1, the first cardboard box and the third cardboard box can serve as a "Mango Masks."

In Sample Test Case 2, all the cardboard boxes can serve as "Mango Masks."
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